AF-4047

BBA (Part - 1)
Term End Examination, 2017-18

AF - 4047

* *

BUSINESS MATHEMATICS
Group - A

Paper - II

Time : Three Hours] [Maximum Marks : 75

: gt gl & S ST |t 9l Sk wHE
E 1 SRl MEvas § VAT HE STawg whifer |
TEO HIRON Td UM TR A R YeH fHan
SITEIT |

Note : Answer all questions. All questions carry equal

marks. Give calculation wherever necessary. Log

table and Graph paper may be provided on
demand.
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(2)

Find the inverse of the matrix given below :

(NS NS RN
N = W

374l / OR

frfafaa Tl ol A ST :
15x + 17y =241
25x+ 13y =279

Solve the following equations :

15x + 17y = 241

25x+ 13y =279

ZhTS / Unit-11

2 seca=§ Sl fes i

tano.  sino

l+tan? 0o seca
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(3)

5
If seca:Z, then prove that :

tano.  sino

l+tan? 0 seca

37g4qr / OR

. 12
(a) Al s1n9:§ Tl, @I sinf + cos® T HAMH

I RIS

If sinez%,then find the value of

sinB + coso.

(b) Tag =S
1 — 2sin? 45° = 2¢co0s? 45° — 1 = c0s90°
Prove that :
1 — 2sin? 45° = 2¢co0s? 45° — 1 = c0s90°
TS / Unit-111

3. (q) UM 5:6 % YA® U H § T A
S fF U 8:11 B W™ ?
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(4)

What should be subtracted from each

term in the ratio 5:6 so that it becomes
8:11 7

(b) ATAM B HI A H 9:4 T UM T |
A g9 dG IRl Y H1 U 5:3
FIR I ke = e 1 = B | 2 B 2 e

The ages of 4 and B are in the ratio of
9:4. Seven years hence the ratio of their
ages will be 5:3. Find their present ages.

37g4qr / OR

B H 4, $50 3fueh s ©1 fSa ¢
FHAT § IHHRT Teh qA1 Teh {dgE B HHMI
®I1 DY C, 10% 31fuer &A@ 8, 3 D §
E, ¥ 20 31k o § 1 Afg 37 g =Afwal
F FA FAE T 5500 T, q TS h FAE
@ IS |

A earns ¥ 50 more than B. B earns one and

one-third of what C earns. C earns 10% more

than D and E earns ¥ 20 more than D. If the
total earning of all these five persons is

¥ 5,500, then find the earning of each.
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(5)
38 / Unit-IV

4. TH T A0 J¥E & faq 300 T %A
HIAT & qAT AN W 3% FHHEE TGA Bl
T A8 TR 25% Y W I=el fomkd
R 2% FHUTH I\ w1 T AR Y FA
FARE F T165 UK BW T, A WA U
Ard We Tk god dd wiST|

An agent purchases 300 pens for his principal
and charges 3% commission on cost. He sells
them at 25% profit and charges 2%

commission. If he gets T 165 as total

commission, find the cost and sale price of
each pen.

37g4qr / OR

() T O™ 1 fHamm & € 900 UM
drefdl ® 9T 8% <Rl Y HAWT |
ST SdfIeh oY 1§ ?

A trader weighs 900 grams for 1 kilogram
and earns a profit also of 8%. What is
his real profit ?
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(6)

(b) T A TH HIST T 1,000 H R
253% = I3M@ T Al g8 NS A
1,200 § 99 A1 SHHRT Y AT B I
gfae @ grm?

A person sells a horse for ¥ 1,000 and
losses 253%. What is the gain or loss
percent if he sells the horse for ¥ 1,200 ?

THTS / Unit-V

5. 3% <shglg AN I X W 12 9uf & fau
¥ 200 Wi dlfbent o1 fHgEA, SdaE ged T

S J HIST |

Find the amount, present value and interest

of an annuity of ¥ 200 for 12 years, the rate

of compound interest is 3% per annum.

37g4qr / OR

ford wHa § 8% dftieh =shdfg <A ol
R F FE W A0 B ST SEih AN
aiftfes T © 2

(feam % log 2=10.30103, log 3 =0.47712)
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(7)

In what time a sum of money trebles @ 8%
compound interest per annum if interest is due
annually ?

(Given log 2 =0.30103, log 3=0.47712)
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